HENESEREEES ™R
SH4E2H824H (K)

[fi¥£a]) (847 1 kg )
FRSETELE BiEE W =2 = B Z 1B fm &

ShE 238 S 822.3 2,230 319
HAH LA 119.2 400 50
JUH LA 4,955.3 1,300 52
LSHLA 118.0 569 69
FHHLA 38.1 473 22
TFEASHLA 349.6 1,098 309
SEHLA 206.2 382 29
HSRHLA 487.1 300 21
S 1,960.0 239 23
<SS 75.0 2,222 1,500 |G "
P CANSZ L 109.7 79 26
S OoF 63.2 309 31
FARATY 2,091.7 1,616 533
<7Fd 76.6 1,330 288
TIAYVTAF % 102.2 329 20
F7>a 3,161.9 550 116
HFHIS 216.3 45 26
A F 19.6 1,188 300
X HYT 1,103.1 780 20
U 5 219.8 750 200
U % 70.0 5,139 3,989 [gn
SIINSESy 203.0 550 500

Nt E 16,567.9




(B : kg)

§:53=2)
BT EEE] fatEd = = fB Z B e &
HE 23t =57 63.5 789 160
TR 2,445.0 694 29
e 658.2 1,600 1,200
anE 19,734.6




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &

EEXRIFE 99 | AAFHL A 252.3 1,000 529
JUH LA 371.0 1,120 200

LSFHLA 452.6 596 50

<AL A 421.0 550 100

HSAHLA 85.6 256 20

+77>37 20.2 250 100

HFHES 113.8 80 20

> up YAVIN 358.9 1,339 300

FwxzxX)UL 26.5 919 100

AE AN 29.9 189 20

7€ (A2 HD2TOA 344.9 1,808 1,400

e 16E AHITSTIH 392.4 2,400 1,000
g 28 dAE AN 28.1 141 131
DODEIE 108 EhITOY (5z4%) 1,246.5 3,650 2,500

INtE 4,143.7




[;Efa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =

HE 23% <7+ 71.9 2,000 1,800
<40 33.1 900 300
X453 127.8 700 600

EEXFE 99% |ESX 710.8 3,600 600
ASHLA 19.6 650 200
<3aHLA 115.3 480 200
F7>37 98.2 450 200
X453 20.5 700

8o 4% ESX 29.5 3,000 800

aitaE 1,226.7




